

LE MATEMATICHE

Vol. LXX (2015) – Fasc. II, pp. 123–134

doi: 10.4418/2015.70.2.8

## ON GENERALIZED COMPOSITE FRACTIONAL $q$ -DERIVATIVE

MRIDULA GARG - SUBHASH ALHA - LATA CHANGLANI

In the present paper, we define a generalized composite fractional  $q$ -derivative  $D_q^{\alpha,\beta;\nu}$  and obtain some results for it. These results are image of power function under  $D_q^{\alpha,\beta;\nu}$ , composition of Riemann-Liouville type fractional  $q$ -integral  $I_q^\alpha$  with  $D_q^{\alpha,\beta;\nu}$  and  $q$ -Laplace transform of  $D_q^{\alpha,\beta;\nu}$ .

We also obtain solutions of a  $q$ -difference equation with derivative as  $D_q^{\alpha,\beta;\nu}$  and discuss some special cases. A  $q$ -difference equation of  $D_q^{\alpha,\beta;\nu}$  is solved using  $q$ -Laplace transform and its inverse.

### 1. Introduction

The study of  $q$ -analysis is an old subject, which dates back to the end of the 19<sup>th</sup> century. A detailed account of the work on this subject can be seen in the books by Exton [9], Gasper and Rahman [10] and Ernst [8]. The  $q$ -analysis has found many applications in such areas as the theory of partitions, combinatorics, exactly solvable models in statistical mechanics, computer algebra etc. The subject of  $q$ -analysis concerns mainly the properties of the so-called  $q$ -special functions, which are the extensions of the classical special functions based on a parameter, or the base  $q$ . In recent years, mathematicians have reconsidered  $q$ -difference equations for their links with other branches of mathematics such as

---

Entrato in redazione: 16 luglio 2014

AMS 2010 Subject Classification: 39A13, 26A33.

Keywords:  $q$ -Laplace transform,  $q$ -integrals,  $q$ -derivatives.

quantum algebras and  $q$ -combinatory. The  $q$ -difference equations involve a new kind of difference operator, the  $q$ -derivative, which can be viewed as a sort of deformation of the ordinary derivative.

Fractional calculus is the theory of integrals and derivatives to an arbitrary order, which generalizes integer-order differentiation and integration. Fractional derivatives have proved to be very efficient and adequate to describe many phenomena with memory and hereditary processes. These phenomena are abundant in science, engineering, viscoelasticity, control, porous media, mechanics, electrical engineering, electromagnetism etc. Recent books on fractional calculus ([6], [7], [16], [20], [21]) exhibit its application in various fields of science and engineering. Unlike the classical derivatives, fractional derivatives have the ability to characterize adequately, the processes involving a past history. Different from classical (or integer-order) derivatives there are several definitions for fractional derivatives given in different contexts (see [12], [13], [15], [18], [19]).

From the point of view of  $q$ -calculus several authors have introduced various fractional  $q$ -integrals and fractional  $q$ -derivatives ([2], [3], [17], see also[5]).

In the present paper, we define a new fractional  $q$ -derivative termed as generalized composite fractional  $q$ -derivative and obtain some basic useful results for it. We also obtain solution of a  $q$ -difference equation with this  $q$ -derivative, using  $q$ -Laplace transform.

## 2. Preliminaries

We shall use the following definitions and results in subsequent sections.

The  $q$ -shifted factorial ( $q$ -analogue of Pochhammer symbol) is defined as in [10]:

$$(a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad n \in N \quad (1)$$

with  $(a; q)_0 = 1$ ,  $q \neq 1$ .

If we consider  $(a; q)_\infty$ , then as the infinite product diverges when  $a \neq 0$  and  $|q| \geq 1$ , therefore whenever  $(a; q)_\infty$  appears in a formula, we shall assume that  $|q| < 1$ . Also, for any complex number  $\alpha$ , we have

$$(a; q)_\alpha = \frac{(a; q)_\infty}{(aq^\alpha; q)_\infty}, \quad (2)$$

where the principal value of  $q^\alpha$  is taken.

The  $q$ -derivative of a function [10] is defined by:

$$(D_q f)(t) = \frac{f(z) - f(qt)}{(1 - q)t}, \quad (t \neq 0, q \neq 1) \tag{3}$$

$$(D_q f)(0) = \lim_{t \rightarrow 0} (D_q f)(t)$$

The Riemann-Liouville type fractional  $q$ -integral of order  $\alpha > 0$ , for a real valued function  $f(t)$ , is defined as ([17], see also [5])

$$I_q^\alpha f(t) = \frac{t^{\alpha-1}}{\Gamma_q(\alpha)} \int_0^t (q\tau/t; q)_{\alpha-1} f(\tau) d_q \tau, \quad 0 < |q| < 1, \tag{4}$$

with  $I_q^0 f(t) = f(t)$ .

The Riemann-Liouville type fractional  $q$ -derivative of order  $\alpha$  ( $m - 1 < \alpha \leq m, m \in \mathbb{N}$ ), for a real valued function  $f(t)$ , is defined as [17]:

$$D_q^\alpha f(t) = D_q^m I_q^{m-\alpha} f(t), \quad 0 < |q| < 1, \tag{5}$$

where  $D_q^m \equiv D_q \cdot D_q \dots D_q$  ( $m$  times).

The Caputo type fractional  $q$ -derivative of order  $\alpha$  ( $m - 1 < \alpha \leq m, m \in \mathbb{N}$ ), is defined as [17]

$$*_D_q^\alpha f(t) = I_q^{m-\alpha} D_q^m f(t), \quad 0 < |q| < 1. \tag{6}$$

The  $q$ -Laplace transform of a function  $f(t)$  is defined by means of following  $q$ -integral [1]

$$\tilde{f}(s) = {}_qL_s \{f(t)\} = \frac{1}{(1 - q)} \int_0^{s^{-1}} E_q^{-qst} f(t) d_q t, \quad s > 0, \tag{7}$$

where  $E_q^t$  is the  $q$ -exponential function given by

$$E_q^z = \sum_{n=0}^{\infty} q \binom{n}{2} \frac{z^n}{(q; q)_n} = (-z; q)_\infty. \tag{8}$$

Now we mention some results for  $I_q^\alpha, D_q^\alpha$  and  $*D_q^\alpha$  and  $q$ -Laplace transform which will be required subsequently [5].

(i)  $I_q^\alpha I_q^\beta f(t) = I_q^\beta I_q^\alpha f(t) = I_q^{\alpha+\beta} f(t), \quad \alpha \geq 0, \beta \geq 0. \tag{9}$

(ii)  $I_q^\alpha t^{\lambda-1} = \frac{\Gamma_q(\lambda)}{\Gamma_q(\lambda + \alpha)} t^{\lambda+\alpha-1}, \quad \alpha \geq 0, \lambda > 0. \tag{10}$

- (iii) Composition of Riemann-Liouville type fractional  $q$ -integral and Riemann-Liouville type fractional  $q$ -derivative

$$I_q^\alpha D_q^\alpha f(t) = f(t) - \sum_{k=0}^{m-1} \frac{(t)^{\alpha-k-1}}{\Gamma_q(\alpha-k)} D_q^{\alpha-k-1} f(t) \Big|_{t \rightarrow 0^+},$$

$$m-1 < \alpha, \beta \leq m, m \in \mathbb{N}. \quad (11)$$

(iv)  ${}_q L_s [I_q^\alpha f(t)] = \frac{(1-q)^\alpha}{s^\alpha} {}_q L_s [f(t)], \alpha \geq 0. \quad (12)$

(v)  ${}_q L_s [D_q^\alpha f(t)] = \frac{s^\alpha}{(1-q)^\alpha} {}_q L_s [f(t)] - \sum_{k=0}^{m-1} \frac{s^k}{(1-q)^{k+1}} D_q^{\alpha-k-1} f(t) \Big|_{t \rightarrow 0^+},$   
 $m-1 < \alpha \leq m, m \in \mathbb{N}. \quad (13)$

(vi)  ${}_q L_s [*D_q^\alpha f(t)] = \frac{s^\alpha}{(1-q)^\alpha} {}_q L_s [f(t)] - \sum_{k=0}^{m-1} \frac{s^{\alpha-k-1}}{(1-q)^{\alpha-k}} [D_q^k f(t)] \Big|_{t \rightarrow 0^+},$   
 $m-1 < \alpha \leq m, m \in \mathbb{N}. \quad (14)$

(vii)  ${}_q L_s \{t^\nu\} = \frac{(q; q)_\nu}{s^{\nu+1}} = \frac{(1-q)^\nu \Gamma_q(\nu+1)}{s^{\nu+1}}, 0 < |q| < 1, Re(\nu) > -1. \quad (15)$

(viii)  ${}_q L_s (f *_q g)(t) = {}_q L_s \{f(t)\} {}_q L_s \{g(t)\}, \quad (16)$

where  $f *_q g$  is the Laplace  $q$ -convolution of two analytic functions  $f(t)$  and  $g(t)$ , defined as follows ([11], see also [5])

$$(f *_q g)(t) = \frac{1}{(1-q)} \int_0^t f(u) g[t-qu] d_q u, \quad (17)$$

where  $g[t-qu] = \sum_{n=0}^{\infty} a_n (t-qu)(t-q^2u) \dots (t-q^nu)$ , for the function  $g(t) = \sum_{n=0}^{\infty} a_n t^n$ .

### 3. Generalized composite fractional $q$ -derivative

We define the generalized composite fractional  $q$ -derivative for  $m-1 < \alpha, \beta \leq m, 0 \leq \nu \leq 1, m \in \mathbb{N}, 0 < |q| < 1$ , as follows

$$D_q^{\alpha, \beta; \nu} f(t) = I_q^{\nu(m-\beta)} D_q^m I_q^{(1-\nu)(m-\alpha)} f(t). \quad (18)$$

For  $\nu = 0$ , (18) reduces to the Riemann-Liouville type fractional  $q$ -derivative of order  $\alpha$  defined by (5) and for  $\nu = 1$ , it reduces to the Caputo type fractional  $q$ -derivative of order  $\beta$  defined (6)

For  $0 < \nu < 1$ , it interpolates continuously between the Riemann-Liouville type fractional  $q$ -derivative of order  $\alpha$  and the Caputo type fractional  $q$ -derivative of order  $\beta$ .

**Remark 3.1.** If we let  $q \rightarrow 1$  in (18), we get a new definition named as generalized composite fractional derivative

$$D^{\alpha,\beta;\nu} f(t) = I^{\nu(m-\beta)} D^m I^{(1-\nu)(m-\alpha)} f(t), \tag{19}$$

$$m - 1 < \alpha, \beta \leq m, 0 \leq \nu \leq 1, m \in \mathbb{N}.$$

**Remark 3.2.** For  $\alpha = \beta$ , (18) reduces to the following composite fractional  $q$ -derivative

$$D_q^{\alpha,\alpha;\nu} f(t) = I_q^{\nu(m-\alpha)} D_q^m I_q^{(1-\nu)(m-\alpha)} f(t) = D_q^{\alpha,\nu} f(t), \tag{20}$$

$$m - 1 < \alpha \leq m, 0 \leq \nu \leq 1, m \in \mathbb{N}, 0 < |q| < 1.$$

This  $D_q^{\alpha,\nu}$  is a  $q$ -extension of the generalized Riemann-Liouville fractional derivative  $D^{\alpha,\nu}$  defined by Hilfer [12].

We now obtain some results for the generalized composite fractional  $q$ -derivative  $D_q^{\alpha,\beta;\nu}$ .

**Theorem 3.3.** For  $m - 1 < \alpha, \beta \leq m, 0 \leq \nu \leq 1, m \in \mathbb{N}, 0 < |q| < 1, t > 0$  and  $\lambda > \max \{0, 1 + (\nu - 1)(m - \nu)\}$  we have the image of power function under  $D_q^{\alpha,\beta;\nu}$  as follows

$$D_q^{\alpha,\beta;\nu} t^{\lambda-1} = \frac{\Gamma_q(\lambda)}{\Gamma_q(\nu(\alpha - \beta) + \lambda - \alpha)} t^{\nu(\alpha-\beta)+\lambda-\alpha-1}. \tag{21}$$

*Proof.* In view of definition (18) and the result (10), we get

$$\begin{aligned} D_q^{\alpha,\beta;\nu} t^{\lambda-1} &= I_q^{\nu(m-\beta)} D_q^m \frac{\Gamma_q(\lambda)}{\Gamma_q(\lambda + (1-\nu)(m-\alpha))} t^{(1-\nu)(m-\alpha)+\lambda-1} \\ &= I_q^{\nu(m-\beta)} \frac{\Gamma(\lambda)}{\Gamma_q(\lambda + \alpha\nu - \alpha - m\nu)} t^{\alpha\nu - \alpha - m\nu + \lambda - 1}. \end{aligned} \tag{22}$$

Using result (10) again, we get (21). □

**Theorem 3.4.** For  $m - 1 < \alpha, \beta \leq m, 0 \leq \nu \leq 1, m \in \mathbb{N}, 0 < |q| < 1$ , the composition of Riemann-Liouville type fractional  $q$ -integral (4) with the generalized composite fractional  $q$ -derivative (18) is given by

$$I_q^{\alpha+\nu(\beta-\alpha)} D_q^{\alpha,\beta;\nu} f(t) = f(t) - \sum_{k=0}^{m-1} \frac{t^{\alpha+\nu(m-\alpha)-k-1}}{\Gamma_q(\alpha+\nu(m-\alpha)-k)} D_q^{\alpha+\nu(m-\alpha)-k-1} f(t) \Big|_{t \rightarrow 0^+}. \quad (23)$$

*Proof.* From (18) we can write

$$D_q^{\alpha,\beta;\nu} f(t) = I_q^{\nu(m-\beta)} D_q^m I_q^{(1-\nu)(m-\alpha)} f(t) = I_q^{\nu(m-\beta)} D_q^{\alpha+\nu(m-\alpha)} f(t). \quad (24)$$

Applying  $I_q^{\alpha+\nu(\beta-\alpha)}$  on both the sides and using the semigroup property (9), we get

$$I_q^{\alpha+\nu(\beta-\alpha)} D_q^{\alpha,\beta;\nu} f(t) = I_q^{\alpha+\nu(m-\alpha)} D_q^{\alpha+\nu(m-\alpha)} f(t). \quad (25)$$

In view of the result (11), we arrive at (23). □

**Theorem 3.5.** For  $m - 1 < \alpha, \beta \leq m, 0 \leq \nu \leq 1, m \in \mathbb{N}, 0 < |q| < 1$ , the  $q$ -Laplace transform of the generalized composite fractional derivative is given by

$${}_qL_s \left[ D_q^{\alpha,\beta;\nu} f(t) \right] = \frac{s^{\alpha+\nu(\beta-\alpha)}}{(1-q)^{\alpha+\nu(\beta-\alpha)}} {}_qL_s [f(t)] - \sum_{k=0}^{m-1} \frac{s^{k-\nu(m-\beta)}}{(1-q)^{k-\nu(m-\beta)+1}} D_q^{m-k-1} I_q^{(1-\nu)(m-\alpha)} f(t) \Big|_{t \rightarrow 0^+}. \quad (26)$$

*Proof.* For convenience, let us write  $g(t) = D_q^m I_q^{(1-\nu)(m-\alpha)} f(t) = D_q^m h(t)$ . Now by definition of  $D_q^{\alpha,\beta;\nu}$  and in view of the result (12), we have

$${}_qL_s \left[ D_q^{\alpha,\beta;\nu} f(t) \right] = {}_qL_s \left[ I_q^{\nu(m-\beta)} g(t) \right] = \frac{(1-q)^{\nu(m-\beta)}}{s^{\nu(m-\beta)}} {}_qL_s [g(t)]. \quad (27)$$

Now writing  $g(t)$  in terms of  $h(t)$  and using the following formula of  $q$ -Laplace transform of  $m^{th}$   $q$ -derivative of a function,

$${}_qL_s \{ D_q^m f(t) \} = \frac{s^m}{(1-q)^m} {}_qL_s \{ f(t) \} - \sum_{k=0}^{m-1} \frac{s^k}{(1-q)^{k+1}} \left[ D_q^{(m-k-1)} f(t) \right]_{t \rightarrow 0^+}, \quad (28)$$

we can write the right side of (27) as

$$\begin{aligned} & {}_qL_s \left[ D_q^{\alpha, \beta; \nu} f(t) \right] \\ &= \frac{(1-q)^{\nu(m-\beta)}}{s^{\nu(m-\beta)}} \left[ \frac{s^m}{(1-q)^m} {}_qL_s [h(t)] - \sum_{k=0}^{m-1} s^{m-k-1} D^{m-k-1} h(t) \Big|_{t \rightarrow 0^+} \right], \quad (29) \end{aligned}$$

where  $h(t) = I_q^{(1-\nu)(m-\alpha)} f(t)$ . Using the result (12) for  $q$ -Laplace transform of  $h(t)$ , we arrive at the result (26).  $\square$

On taking  $q \rightarrow 1$  in Theorems 3.3 to 3.5, we get corresponding results for generalized composite fractional derivative  $D^{\alpha, \beta; \nu}$  defined by (19). On further taking  $\alpha = \beta$  in the results thus obtained, we get corresponding results for the composite fractional derivative  $D^{\alpha, \nu}$ , as given in the works of [18], [12] and [19] respectively.

#### 4. Solution of $q$ -difference equation with generalized composite fractional $q$ -derivative

**Theorem 4.1.** Consider the following  $q$ -initial value problem with  $D_q^{\alpha, \beta; \nu}$ , the generalized composite fractional  $q$ -derivative defined by (18)

$$D_q^{\alpha, \beta; \nu} y(t) - \lambda y(t) = g(t), \quad m-1 < \alpha, \beta \leq m, \quad 0 \leq \nu \leq 1, \quad m \in \mathbb{N}, \quad (30)$$

$\lambda$  is a real number and  $g(t)$  is some known function, with initial conditions

$$D_q^{m-k-1} I_q^{(1-\nu)(m-\alpha)} y(t) \Big|_{t \rightarrow 0^+} = y_k; \quad k = 0, 1, 2, \dots, m-1. \quad (31)$$

The solution of above problem is given by

$$\begin{aligned} y(t) &= \int_0^t u^{\alpha+\nu(\beta-\alpha)-1} e_{\alpha+\nu(\beta-\alpha), \alpha+\nu(\beta-\alpha)} \left( \lambda u^{\alpha+\nu(\beta-\alpha)}; q \right) g[t-qu] d_q u \\ &+ \sum_{k=0}^{m-1} y_k t^{\alpha+\nu(m-\alpha)-k-1} e_{\alpha+\nu(\beta-\alpha), \alpha+\nu(m-\alpha)-k} \left( \lambda t^{\alpha+\nu(\beta-\alpha)}; q \right), \quad (32) \end{aligned}$$

with  $\left| \lambda \{t(1-q)\}^{\alpha+\nu(\beta-\alpha)} \right| < 1$ .

*Proof.* Taking  $q$ -Laplace transform of (30), using Theorem 3.5 and initial conditions (31), we get

$$\tilde{y}(s) = \frac{(1-q)^{\alpha+v(\beta-\alpha)}}{s^{\alpha+v(\beta-\alpha)}} \frac{\tilde{g}(s)}{\left\{1 - \lambda \frac{(1-q)^{\alpha+v(\beta-\alpha)}}{s^{\alpha+v(\beta-\alpha)}}\right\}} + \frac{\sum_{k=0}^{m-1} y_k \frac{s^{k-\alpha-v(m-\alpha)}}{(1-q)^{k-\alpha-v(m-\alpha)+1}}}{\left\{1 - \lambda \frac{(1-q)^{\alpha+v(\beta-\alpha)}}{s^{\alpha+v(\beta-\alpha)}}\right\}}, \tag{33}$$

where  $\tilde{y}(s)$  is  $q$ -Laplace transform of  $y(t)$ . Next, we write the binomial expression occurring in (33) in series form and rewrite (33) as

$$\tilde{y}(s) = \sum_{r=0}^{\infty} \lambda^r \frac{(1-q)^{\alpha+v(\beta-\alpha)+r(\alpha+v(\beta-\alpha))}}{s^{\alpha+v(\beta-\alpha)+r(\alpha+v(\beta-\alpha))}} \tilde{g}(s) + \sum_{k=0}^{m-1} \sum_{r=0}^{\infty} y_k \lambda^r \frac{(1-q)^{\alpha+v(m-\alpha)-k+r(\alpha+v(\beta-\alpha))-1}}{s^{\alpha+v(m-\alpha)-k+r(\alpha+v(\beta-\alpha))}}. \tag{34}$$

We take  $q$ -Laplace inversion of (34) and using the result (15) and (16), we arrive at the following

$$y(t) = \int_0^t u^{\alpha+v(\beta-\alpha)-1} \sum_{r=0}^{\infty} \frac{(\lambda u^{\alpha+v(\beta-\alpha)})^r}{\Gamma_q(\alpha+v(\beta-\alpha)+r(\alpha+v(\beta-\alpha)))} g[t-qu] d_q u + \sum_{k=0}^{m-1} y_k t^{\alpha+v(m-\alpha)-k-1} \sum_{r=0}^{\infty} \frac{(\lambda t^{\alpha+v(\beta-\alpha)})^r}{\Gamma_q(\alpha+v(m-\alpha)-k+r(\alpha+v(\beta-\alpha)))}. \tag{35}$$

In view of the  $q$ -Mittag-Leffler function [5] defined as

$$e_{\alpha,\beta}(z; q) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma_q(\alpha n + \beta)}, \quad (|z(1-q)^\alpha| < 1), \tag{36}$$

we arrive at (32). □

**Special Cases:**

(i) If we take  $\alpha = \beta$  in Theorem 4.1, we obtain the following result

**Corollary 4.2.** Consider the  $q$ -initial value problem with  $D_q^{\alpha,v}$  is the composite fractional  $q$ -derivative defined by (20)

$$D_q^{\alpha,v} y(t) - \lambda y(t) = g(t), \quad m-1 < \alpha \leq m, \quad 0 \leq v \leq 1, \quad m \in \mathbb{N}. \tag{37}$$

$\lambda$  is a real number and  $g(t)$  is some known function, with initial conditions

$$D_q^{k-m-1} I_q^{(1-v)(m-\alpha)} y(t) \Big|_{t \rightarrow 0} = y_k; \quad k = 0, 1, 2, \dots, m-1. \tag{38}$$



The solution of above problem is given by

$$y(t) = \int_0^t u^{\alpha-1} e_{\alpha, \alpha}(\lambda u^\alpha; q) g[t-qu] d_q u + \sum_{k=0}^{m-1} y_k t^{\alpha+\nu(m-\alpha)-k-1} e_{\alpha, \alpha+\nu(m-\alpha)-k}(\lambda t^\alpha; q), \quad (39)$$

with  $|\lambda \{t(1-q)\}^\alpha| < 1$ .

In the above result if we take the limit as  $q \rightarrow 1$ , we arrive at a result essentially similar to the result given in [12]. If we further take  $g(t) = 0$  and  $m = 1$ , we arrive at the generalized fractional relaxation problem considered in the book by Hilfer [13].

(ii) On taking  $\nu = 0$  in Theorem 4.1, we get the following result

**Corollary 4.3.** Consider the  $q$ -initial value problem with  $D_q^\alpha$  is the Riemann-Liouville type fractional  $q$ -derivative of order  $\alpha$  defined by (5)

$$D_q^\alpha y(t) - \lambda y(t) = g(t), \quad m-1 < \alpha \leq m, \quad m \in \mathbb{N}. \quad (40)$$

$\lambda$  is a real number and  $g(t)$  is some known function, with initial conditions

$$D_q^{k-m-1} I_q^{(m-\alpha)} y(t) \Big|_{t=0} = y_k; \quad k = 0, 1, 2, \dots, m-1. \quad (41)$$

The solution of above problem is given by

$$y(t) = \int_0^t u^{\alpha-1} e_{\alpha, \alpha}(\lambda u^\alpha; q) g[t-qu] d_q u + \sum_{k=0}^{m-1} y_k t^{\alpha-k-1} e_{\alpha, \alpha-k}(\lambda t^\alpha; q), \quad (42)$$

with  $|\lambda \{t(1-q)\}^\alpha| < 1$ .

(iii) On taking  $\nu = 1$  in Theorem 4.1, we get the following result

**Corollary 4.4.** Consider the  $q$ -initial value problem with  ${}_*D_q^\beta$  is the Caputo type fractional  $q$ -derivative of order  $\beta$  defined by (6).

$${}_*D_q^\beta y(t) - \lambda y(t) = g(t), \quad m-1 < \beta \leq m, \quad m \in \mathbb{N}, \quad (43)$$

$\lambda$  is a real number and  $g(t)$  is some known function, with initial conditions

$${}_*D_q^{k-m-1} y(t) \Big|_{t=0} = y_k; \quad k = 0, 1, 2, \dots, m-1. \quad (44)$$

The solution of above problem is given by

$$y(t) = \int_0^t u^{\beta-1} e_{\beta, \beta}(\lambda u^\beta; q) g[t-qu] d_q u + \sum_{k=0}^{m-1} y_k t^{m-k-1} e_{\beta, m-k}(\lambda t^\beta; q), \quad (45)$$

with  $|\lambda \{t(1-q)\}^\beta| < 1$ .

(iv) If we let  $q \rightarrow 1$  in Theorem 4.1, we obtain the following result

**Corollary 4.5.** Consider the initial value problem with  $D^{\alpha, \beta; \nu}$  is the new generalized fractional derivative defined by (19).

$$D^{\alpha, \beta; \nu} y(t) - \lambda y(t) = g(t), \quad m-1 < \alpha \leq m, \quad m \in \mathbb{N}. \quad (46)$$

$\lambda$  is a real number and  $g(t)$  is some known function, with initial conditions

$$D^{m-k-1} I^{(1-\nu)(m-\alpha)} y(t) \Big|_{t=0} = y_k; \quad k = 0, 1, 2, \dots, m-1. \quad (47)$$

The solution of above problem is given by

$$y(t) = \int_0^t u^{\alpha+\nu(\beta-\alpha)-1} E_{\alpha+\nu(\beta-\alpha), \alpha+\nu(\beta-\alpha)}(\lambda u^{\alpha+\nu(\beta-\alpha)}) g[t-u] du + \sum_{k=0}^{m-1} y_k t^{\alpha+\nu(m-\alpha)-k-1} E_{\alpha+\nu(\beta-\alpha), \alpha+\nu(m-\alpha)-k}(\lambda t^{\alpha+\nu(\beta-\alpha)}). \quad (48)$$

Here,  $E_{\alpha, \beta}$  is the Mittag-Leffler function defined as [15]

$$E_{\alpha, \beta} = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, \quad (49)$$

where  $z, \beta \in \mathbb{C}$ ,  $\text{Re}(\alpha) > 0$ .

## 5. Conclusion

In this paper, we have defined a generalized composite fractional  $q$ -derivative which is a  $q$ -extension of generalized Riemann Liouville fractional derivative defined by Hilfer in 2009. It also provides generalization of both Riemann-Liouville and Caputo type fractional  $q$ -derivatives. We study some basic properties for this derivative which are useful in its applications to physical problems. We also solve a  $q$ -difference equation with this fractional  $q$ -derivative using  $q$ -Laplace transform.

## Acknowledgements

The authors would like to thank the anonymous referee for constructive comments that helped us to improve the paper.

The support provided by the University Grants Commission, New Delhi through Rajiv Gandhi National Fellowship to one of the authors Subhash Alha is gratefully acknowledged.

## REFERENCES

- [1] W. H. Abdi, *On certain  $q$ -difference equations and  $q$ -Laplace transforms*, Proc. Natl. Acad. Sci. India, Sect. A 28 (1962), 1–15.
- [2] R. P. Agarwal, *Certain fractional  $q$ -integrals and  $q$ -derivatives*, Proc. Camb. Philos. Soc. 66 (1969), 365–370.
- [3] W. A. Al-Salam, *Some fractional  $q$ -integrals and  $q$ -derivatives*, Proc. Edinb. Math. Soc. 2 (15) (1966/1967), 135–140.
- [4] G. E. Andrews - R. Askey - R. Roy, *Special Functions*, Cambridge University Press, 1999.
- [5] M. H. Annaby - Z. S. Mansour,  *$q$ -Fractional Calculus and Equations*, Springer, Heidelberg, 2012.
- [6] D. Baleanu - K. Diethelm - E. Scalas - J. J. Trujillo, *Fractional Calculus Models and Numerical Methods*, World Scientific, 2012.
- [7] R. Caponetto - G. Dongola - L. Fortuna - I. Petras, *Fractional Order Systems: Modelling and Control Applications*, World Scientific Book 72, 2010.
- [8] T. Ernst, *A Comprehensive Treatment of  $q$ -Calculus*, Birkhauser, 2012.
- [9] H. Exton,  *$q$ -Hypergeometric Functions and Applications*, Ellis Horwood Series in Mathematics and Its Applications. Chichester: Ellis Horwood Limited; New York: Halsted Press: a Division of John Wiley & Sons, 1983.
- [10] G. Gasper - M. Rahman, *Basic Hypergeometric Series*, Cambridge University Press, Cambridge, 2004.
- [11] W. Hahn, *Beitrage zur Theorie der Heineschen Reihen. Die 24 Integrale der hypergeometrischen  $q$ -Differenzgleichung. Das  $q$ -Analogon der Laplace-Transformation*, Math. Nachr. 2 (1949), 340–379.
- [12] R. Hilfer - Y. Luchko - Z. Tomovski, *Operational method for the solution of fractional differential equations with generalized Riemann-Liouville fractional derivatives*, Fract. Calc. Appl. Anal. 12 (3) (2009), 299–318.
- [13] R. Hilfer, *Application of Fractional in Physics*, World scientific publishing company, Singapore, 2000.
- [14] V. Kac - P. Cheung, *Quantum Calculus*, New York, Springer, 2002.

- [15] A. A. Kilbas - H. M. Srivastava - J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, Elsevier, Amsterdam, 2006.
- [16] M. D. Ortigueira, *Fractional Calculus for Scientists and Engineers*, Springer-Verlag, Lecture Notes in Electrical Engineering 84, 1st Edition, 2011.
- [17] P. M. Rajkovic - S. D. Marinkovic - M. S. Stankovic, *On  $q$ -analogues of Caputo derivatives and Mittag-Leffler function*, *Fract. Calc. Appl. Anal.* 10 (4) (2007), 359–374.
- [18] H. M. Srivastava - Z. Tomovski, *Fractional calculus with an integral operator containing a generalized Mittag-Leffler function in the kernel*, *Appl. Math. Comput.* 211 (2009), 198–210.
- [19] Z. Tomovski, *Generalized Cauchy type problem for nonlinear fractional differential equations with composite fractional derivative operator*, *Nonlinear Analysis* 75 (2012), 3364–3384.
- [20] V. V. Uchaikin, *Fractional Derivatives for Physicists and Engineers*, Vol. I, Background and theory, Berlin – Higher Education Press, Beijing, Springer, 2013.
- [21] V. V. Uchaikin, *Fractional Derivatives for Physicists and Engineers*, Vol. II, Applications, Berlin – Higher Education Press, Beijing, Springer, 2013.

*MRIDULA GARG*

*Department of Mathematics*

*University of Rajasthan*

*Jaipur-302004, Rajasthan, India*

*e-mail: gargmridula@gmail.com*

*SUBHASH ALHA*

*Department of mathematics*

*University of Rajasthan*

*Jaipur-302004, Rajasthan, India*

*e-mail: subhashalha@gmail.com*

*LATA CHANCLANI*

*Department of Mathematics*

*S.S. Jain Subodh Girls College*

*Jaipur-302011, Rajasthan, India*

*e-mail: chanchlani281106@gmail.com*